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QUESTION 1

An enterprise buys a set of Huawei OceanStor 9000 storage systems. Some of the enterprise\\'s basic software is
stored in a directory, and users can access enjoy/it. In order to facilitate the operation, users should not enter the

account password, and the basic software directory is set to NFS enjoy, you should check the share of the "guest
enabled" option.

A. True

B. False

Correct Answer: B

NFS does not have guest users this option.

QUESTION 2

A banking business running background storage system requirements are as follows:

1)

Business Impact. The business impact generated by the operating system is about 100KB.

)

The service operation system is the whole GE network. The server and operating system are GE

network. Follow-up to consider the business needs to upgrade to 10GE.

®3)

Only requires 72TB of total space, the latter expansion priority to expand the disk

4)

Only 20U of rack space is reserved for the current storage devices.

The configuration of three nodes and switches is prioritized to meet the requirements of the machine room.
Cabinet planning based on the above requirements.

What are the more appropriate networking solutions?

A

Program One: 1 * OceanStor 9000 C Node 36 * 2TB SATA configuration 2 * Front-end GE + 2 * Rear-end 10GE
B.

Scenario 2: 3 * Oceanstor 9000 C Node 36 * 2TB SATA hard drive; 2 * Front-end GE + back-end 2 * 10GE

C.
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program three: 3 * OceanStor 9000 P Node 36 * 2TB SAS configuration 2 * Front-end GE + 2 * Rear-end 10GE
D.
Program Four: 3 * OceanStor 9000 M Node 36 * 2TB SAS configuration 2 * Front-end GE + 2 * Rear-end 10GE

Correct Answer: C

QUESTION 3

The water level refers to the percentage of total space used in the node pool, including the high water mark and read-
only water level. When the Huawei OceanStor 9000 passes the water level threshold to limit the file storage and
migration, which of the following description is wrong:

A. When the used space of the node pool reaches a high water level, the system reports an insufficient capacity alarm.
By default, the alarm recovery threshold is 5% lower than the water level. That is, when the used space recovers below
80%, the alarm of insufficient capacity alarm recovery, the alarm

threshold and the alarm recovery threshold can be manually modified

B. When the node pool\\'s used space reaches high water level and spill over is selected, the pool of nodes forbids
writing data to any other node pool or specified node pool to write data

C. When the node pool\\'s used space reaches high water level and no spill over is selected, the pool of nodes forbids
writing data, and does not write data like other node pools

D. When the used space of the node pool reaches the read-only watermark, the system reports an alarm. The alarm
recovery threshold defaults to 0% lower than the low watermark, read-only report Police recovery.

Correct Answer: D

QUESTION 4

Hot-plugging refers to replacing, adding, upgrading, and removing hardware devices without shutting down the system
or power supply. Hot plugging of PCIE is a kind of "no surprise" strategy, that is, when the user unplugs the interface
card, you must first notify the system.

A. True

B. False

Correct Answer: A

QUESTION 5
Which of the following description of the application of NDMP backup on the OceanStor 9000 V100R001C30 is wrong?
A. Does not support the system disk backup and recovery operations

B. When enabling the snapshot-based backup mode, the NDMP backup feature requires the file system to support
snapshots. Otherwise, the backup task can not be successfully performed.
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C. Based on the snapshot backup, snapshots are created for the current directory. Because the extended attributes of
the current directory receive the snapshot protection, the current directory extended attributes will be backed up.

D. Does not support the system time zone or other time-related adjustments, does not support daylight saving time.

Correct Answer: C

QUESTION 6

A RedHat Linux 6 system includes a specific file folder read and write errors, the file system needs to be modified after
the diagnosis. Which of the following is the correct repair operations?

A. Direct use of the root user, in the case of the file system is mounted fsck repair

B. Using the owner of the user data file, perform an fsck fix if the file system is mounted

C. Use the owner of the user data file to perform a fsck fix on the device if the file system is unmounted
D. Using the root user, perform a fsck fix on the device while the file system is unmounted

Correct Answer: D

QUESTION 7

HPUX operating system Mirrordisk / UX software must be installed before it can be mirrored by LVM.
A. True

B. False

Correct Answer: A

QUESTION 8

In the main backup and disaster recovery solution of Huawei a VIS6600T 4-node local high-availability cluster is
deplyed. In the production site networking, each node of the VIS6000T needs to cooperate with at least how many
connections each FC switch

Al

B.2

C.3

D. 4

Correct Answer: C

QUESTION 9
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Dual-live solution: the optical fiber link between two data centers in the same city needs to be deployed with a
wavelength division device.

A. 10
B. 25
C.50
D. 100

Correct Answer: B

QUESTION 10

The CIFS share cifs_share_001 is configured through the OceanStor deviceManager management interface of
OceanStor 9000, and the configured share properties are as follows:

1)

share named cifs_dir_001
)

read-only access

®3)

Using local authentication user mode, user name cifsuser001, password Password @ 123; One of the front-end IP
addresses of the OceanStor 9000 storage system is 96.69.35.7. Which of the following descriptions is correct?

A

Enter the windows 7 PC \\ 96.69.35.7, prompted to enter the user name password, see the shared path name ing into
cifs_share_001

B.

directly in the address bar enter \\ 96.69.35.7 \ cifs_dir_001 and enter the user name password, you can open the
shared path, you can browse this total Enjoy the file under the path

C.

In the address bar, type \\ 96.69.35.7 \ cifs_dir_001 \ a.txt, follow the prompts to enter the user name password, you can
not open the a.txt file

D.
in the address bar enter \\ 96.69.35.7 \ cifs_dir_001, you can create a new file in this path B.doc

Correct Answer: B

QUESTION 11
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An OceanStor 18000 storage system carries the VDI service. The read/write ratio of the front-end workload is 2:8. The
customer requires 20,000 IOPS to be offered. 10k rpm SAS disks (assuming that the average seek time is 3 ms) are
used, and RAID 5 is configured. In this scenario, which is the minimum number of disks that must be configured for the
storage system?

A. 600

B. 408

C. 387

D. 550

Correct Answer: D

QUESTION 12

An application\\'s peak write throughput is 10 MB/s, average write throughput is 280 KB/s, average write 1/O size is 4
KB, and the network bandwidth utilization rate is 70%. If OceanStor V3 storage systems are used to implement data
disaster recovery based on asynchronous replication, Synchronization Method is set to Timed wait when
synchronization begins, and the value of Interval is 4 hours, the expected duration to synchronize data is no more than 1
hour. So the minimum network throughput should be ().

A. 1600 KB/s

B. 400 KB/s,

C. 15 MB/s

D. 10 MB/s

Correct Answer: A

QUESTION 13

Which of the following VMware backup network configurations doesn\\'t fit for backing up data to tape directly (don\\'t
consider FC virtualization)?

A. Both VSA and MA are installed on VMs.

B. VSA, MA and ISE are installed on physical machines.

C. VSA s installed on VM, and the MA is installed on the physical machine.
D. Both VSA and MA are installed on physical machine.

Correct Answer: A

QUESTION 14

Which of the following is correct regarding FTP passive transmission mode:
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A. The server initiates the establishment of a data connection request

B. The FTP client uses the pasv command to tell the FTP server its own IP and port number
C. FTP server uses the pasv command to tell the FTP client\\'s own IP and port number

D. The target port number that initiated the data connection request may be 29999

Correct Answer: D

QUESTION 15

An active-active disaster recovery solution configuration needs to be done after the acceptance test. Which of the
following acceptance scenarios business should not be affected? (Multiple choice.)

A. Single VIS device failure

B. Single oracle failure

C. A single data center full failure

D. Third-party arbitration array failure

Correct Answer. ABCD
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